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Section - A
gfamediue -
Multiple choice questions:

=1 ool & SR &7 He) fadhed 999 R IR gRA@r | foray —

Choose the correct option to answer the following questions and write it in the
answer book —

) HHad & THI g B3GR Wh b 9T HaATs Bl bl o— [1]
@1 areg @) e @ R (|4) onfele @ AR (§) SWRIh I

Prevents back flow of blood inside the heart during blood flow —
(a) Valve (b) Wall of ventricle (c) Wall of atrium (d) All of the above

i) T =R # faerig dadl o Iaae dadl § gRads waf o) gar 8 2 [1]
(31) PIRIBT BrF # (9) dREDHET W () gART R (]) DINTHT &7 A

Where does the conversion of electrical signals into chemical signals take place in a
neuron?

(a) in the cell body (b) on the axon (c) on the dendrite (d)in the cytoplasm

iii) =g § aRae B B g ? [1]

(@n|ra=T (§) Wder™ 9T (W) 889 Wed (]) SuRIad |l
Which is the Function of human brain?
(a) Thinking (b) Balancing (c) Heartbeat (d) All
iv) RRYY STl AR BT 9T&d AeToT 8RT— [1]
(@) M, &1 @) IRERYS (&) Mo, fen () IRIER, &0
External characteristic of RRYY gene structure will be -
(a) Round, green (b) Wrinkled, yellow (c) Round, yellow (d) Wrinkled, green

V) 39 P17 (i) BT A9 BT ® ? [1]

(31) RTGT BT | SATET (d) R BT & FHME () TR DI I HH

(@) ST T



What is the value of angle of incidence (i)?
(a) Greater than the angle of reflection (b) Same as the angle of reflection
(c) Less than the angle of reflection (d) All of the above

Vi) 9TEI Al | RGP FGREAT BT o [1]
@1 i (@) aRaRa®r (M) THd Ued () I9d ued

Protects the eyes from external shocks —

(a) Cornea (b) Iris (c) Cholera (d) Sclera

vii) e &N aRuer § 1 FHeltA a9 & yaTfed &R # 1 S S BT gl &,
d9 a1 fdgell @ 4= favaiar srm— [1]

(@1 1 d@iee (@) 2 diee (W) 3 dlec () 4 dleT

If 1 joule of work has to be done to flow 1 coulomb of charge in a circuit, then the
potential difference between two points will be —

(a) 1 volt (b) 2 volt (c) 3 volt (d) 4 volt
viil) TreT® IR &1 wfeRe =1 # 9 b R ik 18 drar 8 7 [1]

(37) TMAF TR B TS W (d) SIPRIBIE B &Gl R (W) STad a1
(@) SUgTd # | B T

The resistance of a conducting wire does not depend on which of the following?

(a) On the length of the conducting wire (b) On the area of cross section
(c) Both (d) None of these
iX) AR § AR B SR R WA el ol ufhar 3— [1]
(37) 3ETA (9) HerRor (W) fpauifiar (]) fafaxemus
The process of formation of Brown layer on Iron in the atmosphere is -
(a) Reduction (b) Corrosion (c) Virulence (d) Double Displacement

X)2CH3COOH + Na,CO3 = +* o eee A v e .+ Hy0 + CO,SRIE AfATHAT H
Ifrw[A]R—[1]

(@) CH,C00 (d) 2CH;COONa() C,H;0H (8)CaC0s



2CH;CO0H + Na,C03 = -+ ... .....A ... oo ....+ H,0 + CO,Compound [A] in the

above reaction is —
(A) CH;COO (B) 2CH5COONa (C) C,Hs OH(D) CaCO5
Xi) gTqU FAISTHT DI A Folgg= AN B BT Ao w2 2

(@1) o= (@) g (9) g9 Ud O Gl

() fooedt ft U &1 fFFToT R e ©

What do metals form by giving up electrons from the valence shell?
(A) Anion (b) Cation (c) Both cation and anion (d) Can form any one

Xii)" 05" fFa®T IS TE § ?

(@1) RIS (3) RIS () Mo () il
What is the chemical symbol of "03"?

(a) Oxygen (b) Oxide (c) Ozone (d) Argon
xiii) SAT ®T SqeT pH A fhaeT 8 WR Y Bidls ?

(31) 55 4 FHH B W (d) 6.5 F BH 8 W () 7.5 H HA 8 W
(@) 85 ¥ HH B W

Teeth decay starts at what pH value?

(a) Less than 5.5 (b) Less than 6.5 (c) Less than 7.5 (d) Less than 8.5

Xiv)qW H TR ST 9T & A R BT § ?

(37) sferr (@) afdiadrr (@) Yoer  (]) drared
What is the name of the male reproductive part in a flower?

(a) Ovary (b) Stigma (c) Stamen (d) Sepal

xv) fIgd ga& 9 Srar g

(31) WoR dg BT (d) T g BT (@) AT N UHR & g BT 71T S

[1]

[1]

[1]

[1]

[1]

AHAT € () 9 Td HoR I & THR & g d &l 99T S bl

Electromagnet is made in —

(a) Hard Iron (b) Soft iron (c) Can be made from any type of iron
(d) Cannot be made from both soft and hard iron.



2. Rep Il a1 gfd aifom
Fill in the blanks:

) IR & 9 S ATl TolTgH Bl TR PEd B |
The enzymes found in saliva are called salivary -------------------- . [1]
i) Sl ¥ Ry e Rrareier oo e
The most active element in nature is -------------------- .

iii) ATeT ¥ IfSTery P AT SIeT BT § | [1]
The number of ovaries in a female is -------------------- pair.

iv) et @ STel Bl pH #14 BT © | [1]

The pH value of tap water is ------------- .

V) ST BT udcid BT © | [1]
The refractive index of water is ------------ .

vi) dlee HIex &I |ad ulRue # # At fear ST 2
Voltmeter is always connected in in the circuit. [1]

vii) T & O Ud Ta—8Ra arad R+ TwTeT FeIvl @ &HaT U8 il g,

PEAT T | 1]
All green plants and blue-green algae which have the capability of photosynthesis
are called --------—---- .
3. JAfaergaRTcA® Y (1 P SR b e AT Yo yfh # ferfe)
) <& ¥ SuRerd 3t BT RIS A9 faRkay | 1]

Write the chemical name of the acid present in curd.

i) FrafeTRad acdl & Il & FAre 9 99+ arel ReR fgemam Aifel & g3
EUSIE [1]

Mg 3R Cl,

Give the formulae of the stable binary compounds that would be formed by the

combination of the following pairs of elements.

Mg and Cl,



iii) ERT fIgd &1 A1 TE PRAT © | 9l 2

Diamond does not conduct electricity. Why?

iv) BT BT URAY] HHIS fhaT Blal & 7

What is the atomic number of carbon?

V) df®T dF B TS TG fhATHS ShTs a T 87
What is the structural and functional unit of the nervous system?
vi) wreHIfeT # 59 fore fafsr & gy grar § ?

Which method does reproduction take place in Plasmodium?

vii) ashdr 3T iR wiew & H§ g1 ddy Bar g ?

What is the relationship between radius of curvature and focal length?
viii) T2 3teT B g BIRTY |

Define principal axis.

iX) T RO & 6 gEarg & W U6 —gaR Bl gfawes q8l dRdl 8 ?

What is the reason why magnetic field lines do not intersect each other?
X) GITaROT ¥ fdges & arel Sl &1 e forar |

Write the role of decomposer organisms in the environment.

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]
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Section - B

AHITRIHD U - U G&AT 04 ¥ 15 & SarygRaar A faRay | (wrss dhm 50

&%)

Short answer type question — Write the answers of question number 04 to 16 in answer

book (Word limit 50 words)

4. AE (X) AR TR BT START ¥ B geRA @ Ses & oy far Srar 21

@) AfE (X) BT g8 |

(i) srfafdrar @1 =1 foaRay |

(i) s@ rfAfepar forlRag | [1/2+1/2+1]
Compound X and aluminium are used to join railway tracks.

(1) ldentify the compound X.

(i) Name the reaction.

(iii) Write down its reaction.
5. fa@a ifgdr @1 |9=msy ?

Explain Rancidity?

6. IR THAHAD I & A qargi—

Name the for functional groups —

7. HIAT BT ATSI AT HIAT BT A9 W °gTdP & Tl & | feweh faRau |

Intake of a small quantity of methanol can be lethal. Comment.
8. Ul & TRR H U] $Hy BIAT © ?
How does the nutrition take place in the plant body ?

9. AWM gfg iR <iffre aRuaadr ta TR & 5 uaR =1 g7

How are general growth and sexual maturation different from each other?

[2]

[2]

[2]

[2]

[2]



10.

11.

12.

13.

14.

15.

16.

ATET SIS Bl AEifhd RE a8y | (2]

Make a labelled diagram of the female reproductive system.

T4 BT Bl fH0 oRST Mua & AT FA FHRA § aF SdI AR =i §Y UH
foreor oM gAY | [2]
AT A U OH

Draw a ray diagram showing the path of rays of light when it enters with oblique
incidence

from air into water.

I TUYT gRT 91 wfafawat @7 Rerfey @r gy 8 ? [2]
What are the positions of the images formed by the convex mirror?

Haer & Yl & o @ § 7 [2]
What are the properties of Magnetic field lines?

ST 3 3T AT TR ? [2]
What do you understand by Short Circuiting?

e g § @18 TR fafafdt gemd S wafaRer & agad 8 | [2]

Suggest any four activities in daily life which are eco-friendly.

us—
Section-C

T BIAT ST — [3]

(i) i arg & diRAEehe i H e Siar g 2

(ii) 77 worIR® vt ¥ R arg feng o § 7

afe sfaferar gt 2 O Aqfera I FHraRor ff ford |
What happens when a piece of

(i) Zinc metal is added to copper sulphate solution?

(ii) Zinc metal is added to dilute Sulphuric acid?

Also, write the balanced chemical equation if the reaction occurs



17.

18.

19.

3rerar
f=faRad # 3 Uh BT TP IQTERTT T AHSISU— [1§+1§]
(i) NEISERSIEIERII
(ii) foermu=r arfaforar

Explain the following by giving one example of each —
(i) Combination reaction

(ii) Displacement reaction

UTeY B ¥ 3T a7 \AST & ? fhsl &1 UIqy 8MiF & 9 Ud Uh—Td &1
farfae |

What do you understand by plant hormone? Write the names of any two plants
hormones and one function each. [1+1+1]
3AdT

AT § ARash & a1 Wit & A vd ®r fafRau | [1+2]
Write the name and functions of different parts of the forebrain in humans.
e B fgddr GHRo & R B qHEY | [3]

Explain Mendel's law of dihybrid hybridization.
NCH

Heel gRT Ui geraasor & o9 & a9y | [3]

Explain the law of segregation propounded by Mendel.

(1) SIS MBI BT [T el R} fe@rs <ar g ? [3]
(2) & 99T & 91 B AMHIY H 35 gy Al s ar w ?

(1) Why does the color of clear sky appear blue?

(2) Why do we see rainbow in the sky only after rain?

Jrerar
(1) fesa wura f5d ded ® ? (3]
(2) IR fewfenra wit wa B € ? GRSy |

(1) What is Tyndall effect?

(2) Why do the stars appear to twinkle? explain



20.

21.

22.

wWUe—<¢

Section - D

(1) areet fopRY PEd & 2 [1+3]
(2) T BT B, 319 BIY 3 €1 B AT AMHAT AT & | THIT—

(1) What is called acid?

(2) What happens when an acid reacts with a metal. explain -

Jrerar
(1) srnfcas ffadrss @ UHfd HA BT & ? [1+3]
(2) faksTa ol &1 e g3 forad gU ®is diF SuanT fofay |

(1) What is the nature of non-metallic oxide ?

(2) Write the chemical formula of bleaching powder and write any three uses.

T # oy fAfy wr afers gHsiey ? [1+3]
Explain the method of nutrition in amoeba graphically?

34T

(1) SMHIET | PIFAT 77 fIdHera & ? [1+3]
(2) MHTe # A @ G B for@l ? T BRI Al AT H TofsHT &I |1d dal
BN | SISy —

(1) Which acid secreted from stomach?

(2) Write to funcation of acid in stomach? What will happen if mucus is not secreted
in stomach? explain -

(1) fagd uRuy f&d Fed © ? [1+3]
(2) TN e[ acg & a=g & ¥ 0.5 A | fIg[d gRT1 10 7e & w9y & oy yarfsd
@I Sl © | faga uRu | varfed faga smawr &1 ulRkamr g SIfvy |

(1) What is called electrical circuit?

(2) 0.5 A electric current is passed through the filament of an electric bulb for a
period of 10 minutes. Find the result of electric charge flowing through the electric
circuit.?

Freqar
(1) gferry f&d Fead 2 ? [1+3]
(2) fo< aretd IR &1 ufeR fha—fba deif iR AR aar g 7

(1) What is called resistance?

(2) On what factors does the resistance of a conducting wire depend?



